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1. Solve the system of linear equations using Cramer’s rule.{
2x − 4y = 13
x + 3y = −6

2. Find A−1.

A =

 −1 0 1
1 0 1
1 1 1


3. Evaluate detA.

A =


1 2 −1 2

−2 1 0 1
1 −1 2 0
1 1 0 1


4. Write the vector (1, 2) as a linear combination of (2, 1) and (6, 5).

5. Given the old basis {(5, 0), (2, 1)} and the new basis {(2, 4), (1, 3)} for R2: (a)
Find the matrix of transition. (b) Find the new coordinates for (0, 10) after the
transformation.

6. Find the new equation of the line y = 2x − 1 under the linear transformation
given by T (x, y) = (x+ 4y, 2x+ 9y).

7. Find the eigenvalues and eigenvectors of the matrix A.

A =

 5 0 0
1 3 −2
1 −2 3


8. The matrix A has eigenvalues k = 1 and k = 2. Compute A10 using the diago-

nalization method.

A =

[
0 2

−1 3

]
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